SAI EDUCATION TEAM

MODEL QUESTION

1. A__ of aeroplanes.
a. square

b. group

c. flight

d. squadron @

2. The president has not given his ___ to the bill.
a. ascent

b. assure
c
d

.assent %

. accent

3. The high court __ the death sentence of the
prisoner.

a. set aside @

b. set up

c. set down

d. seton

. Choose the correct plural form of 'Thesis'.
. Theses @

. Thesises

. Theesis

. Thesese
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5. Choose the correct meaning of the foreign word
given: 'Coup de grace'.

a. The result

b. The information

c. The final blow @

d. Willingness

6. Drain of wealth theory was pounded by?
a. Alfred Marshal

b. Dadabhai Naoroji @

c. Sarojini Naidu

d. Amartya Sen
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7. Satya Sodhak Samaj was founded by.
a. Narayana Guru b. Gopal Lal Balong
c. Bhaskar Rao Jadav d. Jyotibha Phule @

8. Name the new Scheme launched by the social
justice department of Kerala to provide educational
assistance to children of differently abled parents?
a. Vidya Lakshmi

b. Vidya Kiranam @

c. Subhasree

d. Vidya Vinodini

9.Loktak Lake is situated in which state?
a. Sikkim

b. Tripura

¢. Manipur

d. Mizoram

10.Nirdesh ship Building Research Centre is in.
a. Chaliyam

b. Feroke

c. Mavoor

d. Thamarassery

11. The slogan 'American Model Arabikkadalil' was
associated with which Agitation?

a. Paliyam

b. Kurichya

c. Punnapra-Vayalar @

d. Nivarthana

12. In which Sports in Olympics, India has won
maximum Gold Medals?

a. Shooting

b. Wrestling

c. Athletics

d. Hockey %9



13.Which is the first state in India to offer email ID's
in Hindi?

a. Madhya Pradesh

b. Rajasthan %

c. Utter Pradesh

d. Maharashtra

14. Which city hosted the trilateral meeting of the
Foreign Ministers of Russia, India and China?

a. New Delhi %)

b. Chennai

c. Kolkata

d. Mumbai

15. Where in India was the Naval Maritime Aircraft
Museum inaugurated?

a. Kochi

b. Haldia

¢. Mundra

d. Visakhapatnam %

16. GRAWo (L1 l®®o.
a. 2o

b. GRAWo

c. MEINWo B

d. Mda®o

17. ' WAAIR' GRS &b )@ I@6M?
a. l.afleoamgs %

b. aff)o.@0Qa |

c. 860 | 850D @MY@

d. a)MD.d )i 6eMa {1863

18. HUNO 212520100266 1@ &A1 GRE?
a. 000G {186]

b. @DSG(R® |

c. @oalB 0]

d. &M MMU(OD T4

19. The difference between a positive proper
fraction and it's reciprocal is °/20.What is the
fraction?

a.%)»

b.%/s

c.5: %

d.?/s

20. Sixty-five percent of a number is 21 less than
four-fifth of that number. What is the number?
a. 70

b. 140 %9

c. 65

d. 130

21. The ratio between the speeds of two trainsis 7 :
8. If the second train runs 400 kms in 4 hours, then
the speed of first train?

a. 87.5 km/hr @

b. 80.5 km/hr

c. 85.5 km/hr

d. 83.5 km/hr

22. An article buys at Rs.300 and sold at Rs.270 then
loss% is:
a.20% b.10%%  c.15% d. 25%

23. The area of a square field is 529 sq.m. Its length
is:

a. 25

b. 24

c.21

d.23%

24. If DELHI is coded as CCIDD, how is 'BOMBAY'
coded in that code?

a. AIMTVT

b. MJXVSU

c. AMIXVS %9

d. WXYZAX

25. Ramu is younger than Rahul by 4 years. If their
ages are in the respective ratio of 7:9,how old is
Ramu?

a.14%

b. 18

c. 36

d.12



